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QUESTION 1

The goal of most network-based blockchain attacks is to enable what type of attack?
A. Selfish Mining Attack

B. Double-Spend Attack

C. 51% Attack

D. Long-Range Attack

Correct Answer: A

QUESTION 2

This sample code is vulnerable to which of the following attacks? Select all that apply.

1 event Transfer(address _from, address indexed _to, uint256 _v

2 Tfunction sendCoin(address to, uint amount) returns(bool suffi

3 if (balances[msg.sender] < amount) return false;
balances[msg.sender] -= amount;

balances[to] += amount;
Transfer(msg.sender, to, amount);
return true;

A. Unchecked Return Values
B. Arithmetic

C. Short Address

D. Reentrancy

Correct Answer: C

QUESTION 3
Which of the following blockchains does NOT tie real-world identity to public keys on the blockchain?

A. Hyperledger
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B. Ethereurn
C. Corda

Correct Answer: B

QUESTION 4

A blockchain-based solution best achieves which of the following goals?
A. Data control

B. Data deletion

C. Data retention

D. Data privacy

Correct Answer: C

QUESTION 5

The decentralization of the blockchain makes it immune to traditional Denial of Service attacks.
A. True

B. False

Correct Answer: B
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